BaoiKkoi KOVOVEC TPOQPOPAC

(Basic pronunciation rules)

In Greek (as in English) there is often no
direct correspondence between the sounds
(the phonemes) and the letters of the
alphabet (the graphemes). There are cases
where a single sound is represented by
two or more letters, or two or more letters
represent the same sound.

A. One sound - more letters

[il] = n, 1, u, €1, 01 [lipi] Aeimel, Avmn, Aimy, (vrd)Aoumol
[e] -» €, ai [erhete] Eoyetau

[0] » 0, W [horos]  ywpog

[b] » um [boro]  umoow

[d] = vT [dino]  vrivew

[9] - vk [agatha] Ayxdba

[dz] - 7C [dzami] tCdu

[ts] - TO [etsi] érol

B. One letter < two sounds
£ « [ks] [ksero]  Eéow
U] < [pS] [psari]  yadot
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2= Double letters representing consonants, except

for yy, are pronounced as one consonant.

The combinations av / €v are pronounced
[av], [ev] when followed by a vowel or 3, v,
o, W, v, A, 0. Otherwise they are pronounced

[af], [ef].

The phonemes /#/, /y/, /x/ have slightly
different pronunciation depending on the
vowel that follows.

184

C. Phonological processes

o is pronounced [z] when followed by f3,
v, O, W, v, A, 0, um, vt. This happens either
within a word or across word boundaries.

Final v followed by initial %, m, T makes
them [b], [d], [g]-

Within a word there is a tendency to
pronounce [i] followed by a vowel as a
semivowel [j], [¢]-

To 2apparo to mowi oTIS eVVId, eyd YA
otnY exxAnoia alAd oL ovuUAONTES oV
ayav oty Odiaooa,

[af] [av]
avtog avin
avToOXiVyTO avpLo
[ef] [ev]
evx0A0C Evoamn
OLevBVVTNG VevoLalw

%L, ®NTTOG

xAavw, x0QN, xovvia,
Y€00G, YVOOS

yauog, I'wywn, yoova

xéoL, xoua
1AV, ¥000G, ¥0VEoVOEVW

owafaoua, ofovoa,
TIG VTOUATEG, TOVG UTOUTAOES

TOV %170, THY TOAN,
T0V TOiYO0, TOV Y0 Od, TOoV §EEvo

UaTia, 0105
Pualouai, maidid

[matca], [p¢os]
[viazome], [pedja]



Stress marks

In Greek, every word that has more than
one syllable takes a stress mark.

No stress is placed before the third syllable
counting from the end of the word.

The stress may sometimes differentiate the
meaning of the words.

Monosyllabic words do not take a stress mark:

The question words ma¢ and mov are
stressed in order to be differentiated from
the homophonous ov and mwg:

The disjunctive 1| is stressed while the

article 1 is not.

14 * Stress is also placed on the weak pronouns

(uov, oov, Tov, TG, UaS, 00G, TOUG) to prevent
confusion with their corresponding possessive
pronouns. This occurs whenever there is a
verb which takes an object in the genitive.

A word that is stressed on the antepenultimate
syllable that is, the third from the end, is marked
with a secondary stress mark on its last syllable
when it is followed by a weak pronoun.

1/

An otng

4 1

2a yt vng
4 2 1
XQ TO OXO TTOG
32 1

7
OXOV AN 20 UEQ UM Y?O TQV T

32 1

nge Oa o Eavadw; —Horg T

H Ayxabao 0&&(1 éAeye, aiig o Zayivng
gzMa xaralafoive

O mammovs, av xal T600 YeQOG, OeiyVeL
ye@gg xat ovvatog

nyn, va, yia, uLa, JroLog

LHwg nobeg; Me pawtnoe mwg 1obeg
[1o¥ ag; Me pwtnoe mov mag
YrooyéOnxe mwg Oa éobet

To Bifrio wov OéAw dev vdoyet

H Maypia 7 n EAévy tnAepavnoe;

the teacher
told us

H daoxdla ﬂgg gire va, Ol ffacovue yoouuatixng

our teacher
said

H daondia pag eime va drofdoovue yoouuatixyg

7 4
0 daoxalos uag

7 7 . .
YAQLOE UOV Eva QIAL



ACTIVITIES

Complete the names of the places on the map of Greece and circle the
places you have visited or you want to visit

A a ahpa Abnva

B B prta Bolog

r Y yéuo Iavveva
A 0 Oéhtal Anhog

E € EPLhov "Edeooa
Z C Ofta ZdxuvvBog
H n Nt Hodxhero
C) 0 Onta Beocohovinn
I L VLT Ixapla

K % HATTOL Kohaudro
A A Aaudo Anuvog
M u UL Mnog

N v VU NaEoc

= E Eu EdvOn

0) 0 OuLrQov Ohvumio
IT T L [Taroa

P 0 Q0 P&0Bvuvo
z o (-g) olyuo 2000¢g

T T TOW Tvvog

Y v vYPLhov “Yooa

() () QL droova
X X KL Xiog

Y P Yu Wopd

Q Q) Uy Qowmdg
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